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B.Com. DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations 

Third Semester 

Commerce 

BUSINESS STATISTICS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is the meaning of Statistics? 

 ¦ÒÎ°¯¼ß ö£õ¸Ò GßÓõÀ GßÚ? 

2. What is Primary data? 

 •ußø© vÚ® GßÓõÀ GßÚ? 

3. Define Median and Mode. 

 ø©¯¨¦ÒÎ ©ØÖ® •Pk – Áøμ¯Ö. 

4. What is the Practical Utility of Range? 

Áμ®¤ß |øh•øÓ £¯ß£õk GßÓõÀ GßÚ? 

5. What are the uses of correlation? 

 JmkÓÂß £¯ßPÒ GßÚ? 

6. Define Regression. 

 öuõhº¦ ÷£õUS – Áøμ¯Ö. 

7. What is Fixed Base Index? 

 {ø» Ai¨£øh SÔ±k GßÓõÀ GßÚ? 
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8. What is Chain Base Index? 

 \[Q¼ uÍ® SÔ±k GßÓõÀ GßÚ? 

9. Define the term time series. 

 Põ»® \õº Á›ø\ Gß£uøÚ Áøμ¯Ö. 

10. What is Irregular Variation(I). 

 JÊ[PØÓ ©õÖ£õk GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the various sources of Secondary data. 

   Cμshõ® {ø» vÚzvß £À÷ÁÖ Buõμ[PÒ GßÚ? 

Or 

 (b) Explain the Parts of table? 

   AmhÁøn £SvPøÍ £ØÔ ÂÁ›. 

12. (a) What do you understand by median and quartiles? 

   ø©¯ ¦ÒÎ ©ØÖ® PõÀ¦ÒÎ £ØÔ } ¦›¢x öPõshx 
GßÚ? 

Or 

 (b) Find the range and coefficient of range for the 
heights of 8 students of a class. 

158 160 165 166 168 170 173 

   ¤ßÁ¸® uμÄPÐUS AÍÄ GÀø» ©ØÖ® AÍÄ 

GÀø»U Tmkz vÓøÚ öPõsk Gmk ©õnÁºPÐUS 

Cøh÷¯¯õÚ E¯μzøu Psk¤i. 

158 160 165 166 168 170 173 
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13. (a) Give the merits and demerits of the rank method. 
   uμ{ø» •øÓ°ß |ßø©, wø©PøÍ u¸P. 

Or 

 (b) Find the Karl Pearson’s coefficient of correlation. 
X 6 2 10 4 8 

Y 9 11 5 8 7 

   ¤ßÁ¸® PõºÀ ¤¯º\Ûß Cøhz öuõhº¦U Tmkz 
vÓøÚU PnUQkP. 

X 6 2 10 4 8 

Y 9 11 5 8 7 

14. (a) Differentiate chain base and Fixed base. 
   \[Q¼ uÍ SÔ±k ©ØÖ® {ø» Ai¨£øh SÔ±k 

÷ÁÖ£õkPÒ ¯õx? 

Or 

 (b) From the following data compute Fisher Ideal Index 
number. 

2002 2004 
Commodity 

Price Quantity Price Quantity

A 14 32 12 52 

B 24 37 11 33 

C 17 21 8 44 

D 12 27 10 37 

   ¤ßÁ¸® ÂÁμ[PÐUS L¤å›ß HØÓ SÔ±mk 
Gsøn Psk¤iUP. 

2002 2004 
ö£õ¸mPÒ 

Âø» GsoUøP Âø» GsoUøP

A 14 32 12 52 

B 24 37 11 33 

C 17 21 8 44 

D 12 27 10 37 
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15. (a) Explain Time Series Models. 
   Põ»z öuõhº ©õv› £ØÔ ÂÁ›. 

Or 

 (b) Find the 3-yearly moving average from the 
following time series data. 

  

Year: 1998 1999 2000 2001 2002 2003 2004 2005 

Sales:  
(in tonnes) 

30.1 45.4 39.3 41.4 42.2 46.4 46.6 49.2 

   ¤ßÁ¸® Â£μ[PÐUP 3 Á¸h |P¸® \μõ\›°ß 

Põ»z öuõhøμ Psk ¤iUPÄ®. 

  

Á¸h® 1998 1999 2000 2001 2002 2003 2004 2005 

ÂØ£øÚ  

(in tonnes) 

30.1 45.4 39.3 41.4 42.2 46.4 46.6 49.2 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the nature and scope of statistical methods? 

 ¦ÒÎ°¯À ©õv›°ß C¯ØøP ©ØÖ® ÁÍºa]ø¯ £ØÔ 

ÂÁ›. 

17. Calculate mean, median and mode from the following 

data. 

Income: 0-5 5-10 10-15 15-20 20-25 25-30

Companies: 5 7 10 8 6 4 
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 ¤ßÁ¸® vÚzv¼¸¢x \μõ\›, Cøh{ø» ©ØÖ® •Pk 

BQ¯ÁØÔß ©v¨¦PøÍ PõsP. 

Á¸©õÚ®: 0-5 5-10 10-15 15-20 20-25 25-30

{ÖÁÚ®: 5 7 10 8 6 4 

18. Find the rank correlation from the data given below. 

x : 6 9 13 16 25 29 21 11 

y : 13 16 18 23 5 31 11 7 

 ¤ßÁ¸® vÚzv¼¸¢x uμÄUPõÚ AÍÄ GÀø»U Tmkz 

vÓøÚU Psk¤iUPÄ®. 

x : 6 9 13 16 25 29 21 11 

y : 13 16 18 23 5 31 11 7 

19. Convert the following fixed base index (FBI) into base 

index numbers. 

Year: 2010 2011 2012 2013 2014

FBI: 380 386 390 392 400 

 ¤ßÁ¸® Ai¨£øh SÔ±mk Gsøn {μ¢uμ Ai¨£øh 

SÔ±mk GsnõP ©õØÖP. 

Á¸h®: 2010 2011 2012 2013 2014

FBI: 380 386 390 392 400 
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20. Fit a Straight Line trend equation to the data by the 
method of Least Squares: 

Year: 2001 2002 2003 2004 2005 2006 2007 2008 

Value: 80 90 92 83 94 99 92 104 

 «a]ÖÁºUP •øÓ°ß ‰»® J¸ ÷|ºÁ›¨÷£õUS 
\©ß£õmiøÚ¨ ö£õ¸zxP. 

Á¸h®: 2001 2002 2003 2004 2005 2006 2007 2008 

©v¨¦: 80 90 92 83 94 99 92 104 
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